Monetary policy – interest rates

Maintaining interest rates

It all sounds very easy in principle. You just say “the interest rate is ….%” and then sit back and wait another month to decide interest rates again. Wrong! Once the MPC has set an official rate for each month, the Bank has to actively intervene in the money markets every day to ensure that the official rate that has been set, is also the equilibrium rate in the market.

They do this as a two stage process. First, they create a “shortage” in the market. In other words they make sure that the banks and other financial institutions do not actually have enough liquidity to meet their commitments each day. This sounds crazy to keep them short, but if they are short they have to get their cash from somewhere. That somewhere is the Bank.

This leads on to the second stage. When the banks and other financial institutions come to the Bank of England needing cash, the Bank offers them what are called “repos”. A repo is a “sale and repurchase agreement”. In other words the Bank offers to buy various assets (usually gilt-edged securities and Treasury Bills) back from the institution concerned in exchange for cash. In the meantime, the banks have to pay the official interest rate on the cash they have borrowed. A fortnight later they have to return the cash to the Bank of England and they get their gilts and Treasury Bills back again. This is where the expression “sale and repurchase” agreement comes in. The institutions concerned sold their gilts etc. to the Bank of England (in exchange for cash) and then bought them back a fortnight later.

One way to think of this whole process is as a game of musical chairs where the Bank removes a chair from the market each day. They then give the chair back during the day, but on the terms they want to! So, the point of this is that all the borrowing, which the financial institutions had to do, was at the official rate. That helps to maintain the official rate in the markets. 

For more details on the daily routine behind this and an example, why not have a look at the theories about interest rates
Theories about interest rates

The Monetary Policy Committee is responsible for setting the level of short-term interest rates in the economy to meet the inflation target set by the government. If they are to do this effectively they have to understand fully the effect that interest rates have on the economy. This process is known as the “monetary transmission mechanism” and is perhaps the most important area of theory for them. However, they also look carefully at the inflation forecast prepared by the Bank’s monetary analysis division, and need to be aware of the process of inflation targeting. There is more detail on the theories relating to interest rates if you return to the contents page.

Theory 1 – The Monetary Transmission Mechanism?

The transmission mechanism of monetary policy is the process by which interest rate changes affect inflation. Detailed knowledge of this is vital to the MPC if they are to achieve the inflation target as closely as possible. The transmission mechanism is basically a 3 stage process.

The first stage is that a change in the official rate set by the MPC will affect other interest rates. Banks, building societies and other financial institutions have to react to any official rate change by changing their own savings and loan rates. The change will also affect the prices of many assets; shares, houses, gilt-edged security prices and so on. The exchange rate may change as demand and supply of sterling adapt to the new level of interest rates. Finally there may also be an effect on the expectations of both firms and individuals. They may become more or perhaps less confident about the future path of the economy.

The second stage is that all these changes in markets will affect the spending patterns of consumers and firms. In other words there will be an effect on aggregate demand. Higher interest rates are likely to reduce the level of aggregate demand, as consumers are encouraged to save rather that spend. There will also be international effects as the level of imports and exports changes.

The third stage is the impact of the aggregate demand change on GDP and inflation. This will tend to depend on the relative levels of aggregate demand and supply. If there is enough capacity in the economy then an increase in AD may not be inflationary. However, if the economy is already at bursting point producing as much as it can, then any further AD increase may be inflationary.

It is vital to understand all these links in the chain in as much detail as possible and much time is spent in the Bank on researching the behaviour of consumers, firms and markets.  There are three stages to the Monetary Transmission Mechanism and they are as follows:
Stage 1

As we saw, Stage 1 of the transmission mechanism is the way in which interest rate changes are transmitted through to markets. Various different markets are affected. The money markets, where all financial assets are traded, will be directly affected, but other markets will also be indirectly affected. The housing market, the stock market and bond markets will be affected and the value of these items may change. International markets for goods and services will be affected through the exchange rate. On top of all this, any interest rate change may affect the expectations of firms and individuals and the level of confidence in markets.

Many of these effects are difficult to work out exactly and often will depend on other circumstances, but below is some more detail on how each market is affected. This analysis assumes that markets don’t expect the rate change to be reversed in the near future.

 Money markets

Both short-term and long-term interest rates will be affected. As soon as a rate change is announced, the banks will usually change their “base rates”. Most of their other interest rates are calculated from this “base”, and so this will have an immediate effect on the interest rates they are charging to borrowers and paying to savers. Mortgage rates will often change fairly quickly as well, depending how much the official rate has been changed by.

The effect on long-term interest rates is slightly more complex and depends on what markets expect to happen to the rate in the future. Long-term interest rates tend to be an average of current and future expected rates and so long-term rates may go either way. For more detail on this see the further work (link to further.doc) section.

Asset prices

Higher interest rates will tend to reduce the prices of various assets. Shares (equities) are likely to be affected. The markets will anticipate the effects of the higher interest rates on the level of spending, and allow for this in the way that they value the shares of companies. Any future returns from shares will also be discounted by a larger amount, and so be worth less. This will reduce the value of the shares. For more detail on this effect see the further work (link to further.doc) section.

Bond prices will also be affected as they are inversely related to interest rates. For more detail on this effect see the further work (link to further.doc) section.

The rate of increase of house prices will also tend to slow down (or perhaps even fall). To buy a house, most people have to borrow. The higher the level of interest rates, the more expensive this mortgage will be. This will tend to reduce the demand for housing, and as with any other market, a fall in demand may reduce prices.

Exchange rate

Higher interest rates may well increase the demand for sterling. Overseas investors will be attracted to the UK by higher relative interest rates, and so there may well be an inflow of investment. This increased demand may, as with any other market, push up the price of sterling. We normally term this an appreciation in the exchange rate. This appreciation will increase the price of exports overseas, and make imports appear relatively cheaper. However, these price effects may take some time to work through.

Expectations / confidence

Interest rate changes will affect the expectations of a variety of groups. Individuals will be affected as they see their financial position affected. They may hold shares and other forms of savings and will be quite likely to be borrowers. Any interest rate change may affect their perception of how well off they are, and are likely to be in the future. Firms will also be affected, as they usually need to borrow to invest. They also depend on the state of the economy for the demand for their products and services. Their profitability may therefore be affected by any interest rate change. Financial markets will also be affected.

The exact effect on expectations and confidence depends on how people interpret the rate rise. If the MPC raise interest rates, people may think that the MPC expect the economy to grow faster in the future. This could boost confidence. On the other hand, it may signal to people that the MPC want to slow the economy down. This would not be good news and is likely to dent confidence.

Stage 2

Stage 2 of the transmission mechanism is the way in which changes in markets then affect the level of spending in the economy. All things being equal (which they rarely are in economics!) we would expect an increase in interest rates to reduce spending, but why? Let’s look in turn at the effects on individuals and firms.

Individuals

Individuals are affected by interest changes in various ways, but there will tend to be three direct effects:

1. The first effect happens because they will find that they now face different interest rates on their savings and borrowing. An increase in the interest rate will mean that their disposable income is likely to have fallen if they are net borrowers. The most obvious impact of this is through the mortgage rate, given that 80% of personal debt in this country is loans secured on houses. Higher mortgage payments mean that people have less money left to spend on other things and so spending is likely to fall.

2. The second effect is through the effect of interest rate changes on people’s wealth. People may have their wealth in the form of houses, shares or some other financial asset. However, whatever the asset, an increase in interest rates is likely to mean that the value of these assets will fall. That makes people feel less well-off and so their spending is likely to fall as well.

3. If the exchange rate changes as a result of an interest rate change, then this may affect the pattern of spending. Say that an increase in the interest rate leads to an appreciation of the exchange rate. This will make imports appear relatively cheaper, and exports more expensive. This may cause people to witch their spending from domestically produced goods to overseas imported goods. They will probably do this unwittingly, and are simply reacting to price changes. However, the impact of this is that UK firms are now facing less demand. So although the level of spending overall hasn’t changed, the level of spending on UK goods has fallen.

Of course some individuals will be affected in different ways depending on their circumstances. However, the MPC can only set one interest rate and so have to look at the whole picture and cannot take account of individuals whose circumstances may be different from average.

Firms

All firms will be affected by interest rate changes differently. The exact effects will depend on many things including the size of the business, the amount they have borrowed and where they borrowed it from and the nature of the business. Generally though we would expect an increase in interest rates to affect the firm adversely.

Like individuals, many firms will be net borrowers. They tend to borrow to fund investment and many will also have overdrafts or other short-term borrowing to help their cash-flow. If interest rates increase they will find that the cost of their borrowing has increased. This will reduce the profitability of the firm and may make them more reluctant to increase employment. It will also adversely affect new investment projects. Firms will only make an investment if they make a return reasonably above the rate of interest on their borrowing. If the interest rate increases, fewer investment projects are now viable, and so investment will tend to fall.

Of course, firms who have not borrowed much and have a significant amount of cash will relish interest rate increases as they can now make a higher return on their money. However, it would be safe to assume that firms like this will tend to be in the minority, and the main effect of an interest rate increase will be to reduce investment.

Firms will also be affected by exchange rate changes. Many firms source a lot of their raw materials from overseas and the cost of them tends to be fixed in the short-term. An appreciation of the exchange rate will then adversely affect them for a while compared to firms in other countries. However, official interest rate changes are only one small factor in the determination of exchange rates.

MPC decisions on interest rates will also affect business confidence. Firms have to plan some time ahead for their investment, and so have to look carefully at what they think will happen in the future. The MPC’s decision gives a clear indication of their view on the future, and this may affect what firms think as well. The exact effect will depend on how strongly the firm holds its views. 

Stage 3

The first two stages in the transmission mechanism show how the change in interest rates affects the level of spending in the economy. The total of all spending is aggregate demand. Aggregate demand (AD) is therefore:

Aggregate Demand = Consumption + Investment + Government expenditure + (Exports – Imports)
The effect of changes in aggregate demand on inflation depends on whether the economy has the capacity to produce the goods and services being demanded. This capacity is aggregate supply (AS). There is always a certain level of AS at which all firms are working to their normal capacity. This level of output is called the “potential” level of GDP.

If AD is less than AS, then the economy has spare capacity. The “actual” output is below the “potential” output. This situation is called a “negative output gap” or “deflationary gap”, and any increase in AD can be accommodated by simply increasing production. This is unlikely to have any inflationary effects. 

Inflation is likely to be caused by the opposite situation. Where AD is greater than AS, then the economy is trying to produce more than its potential. This situation is called a “positive output gap” and is likely to be inflationary. This can perhaps easiest be thought of as “too much money chasing too few goods”. It is known as demand-pull inflation, because demand is literally pulling up inflation. 

If the capacity of the economy is growing, then the level of demand can also grow without any effect on inflation. However, the growth in aggregate supply will depend on the supply-side policies that are being pursued by the government and the pace of technological change. The MPC can’t do anything about either of these, and so they have to look carefully at what is happening on the supply-side of the economy to try to work out how much demand can be allowed to grow by.

However, there are two more very important factors that the MPC have to take into account when making their decisions. The first is any secondary effects or multiplied effects there may be on aggregate demand.

The second is time lags. How long does it take for the interest rate changes to have their full effect, and how significant is that effect? 

Second-round effects

Many firms will not be directly affected by all the changes we have outlined. They may not trade overseas and so may not be affected by the exchange rate. They may not have borrowed much and so may not be affected by higher interest repayments and so on. Despite this though they may be affected positively or negatively by the interest rate changes made by the MPC. As aggregate demand increases or decreases, most firms will be affected somehow. Retailers may find their sales rising or falling, even though they have not been directly affected themselves. A steel-maker may benefit from the increased level of demand for cars and so on. It is quite important to try to assess how significant these secondary effects are because they will add significantly to aggregate demand, and could therefore be inflationary.

Time lags

Any change in the interest rate takes time to have its full effect on the economy. Though financial institutions and many markets will react immediately, it may take much longer for these effects to feed through to spending. Though a mortgage holder may know that the mortgage rate has changed it may be a couple of months or perhaps more before it is noticed as a lower bank balance! It is only then that they begin to react by cutting spending elsewhere. 

These time lags are significant. The empirical evidence suggests that it may take up to a year for the monetary policy change to have its full effect on demand and production. The full effect on inflation may take up to two years. All this adds up to the fact that the MPC have to look some way ahead in their deliberations.

Theory 2 – Inflation forecasting – who has the crystal ball!

The MPC have to look carefully ahead if they are to keep meeting the inflation target in the medium to long-term. Combine that with the fact that any interest rate changes may take up to two years to have their full effect on inflation, and you can see why it is important to the MPC to have a good quality inflation forecast.

The monetary analysis division of the Bank produce the inflation forecast quarterly and it is published in the “Inflation Report”.  The Bank is in fact required to produce this by the Bank of England Act 1998, and the report has to be approved by the MPC. They after all are the ones shouldering the responsibility for the performance of inflation! To make the forecast, the Bank has models of the economy. It doesn’t rely on any particular model, but has a whole suite of them. By having different models they can look at various different inter-relationships and make a better judgement on the likely path of inflation. Despite the fact that all the models are computer-based, it is still judgement that is the key aspect of the forecast. The models simply help the MPC to make better judgements.  

The forecasts are published in the week following the relevant MPC meeting, and are published as fan charts.  The fan charts show graphically the certainty of the forecast. The further away from the central projection, the less likely that is to happen, but it nevertheless remains a possibility. The Bank avoid making point forecasts (a single figure) as this implies an accuracy that is impossible to achieve.

Theory 3 – Inflation targeting – where are we aiming?

Since leaving the ERM in 1992, we have had inflation targets. At first the government set a target of 1-4% for inflation, with the intention that it would be gradually reduced over successive years. That target was then changed to a target of 2.5% or less. However, in 1997 the new Chancellor (Gordon Brown) changed the target to a simple point target of 2.5%. This target is called a “symmetrical target” because the MPC are just as concerned about under-shooting it as over-shooting it.

A symmetrical target means that if inflation seems to be heading well under target, the MPC can reduce interest rates to encourage growth in demand. They can be just as active in cutting rates when inflation is under-shooting the target, as they would be in increasing rates if it was going over. A target of 2.5% or less may encourage a greater degree of caution and act as a constraint on growth. With a symmetrical target the MPC can ensure that GDP stays as close as possible to its potential.

If inflation misses the target by more than 1% either side, the Governor of the Bank (as Chairman of the MPC) is required to write an open letter to the Chancellor. The letter would set out why inflation was adrift from the target, how long the divergence was expected to last and the action the MPC would be taking to bring inflation back on course.

Monetary Policy – Monetary Policy Committee (MPC)

The MPC – explanation

In 1997 the Bank was given operational independence by the Chancellor (Gordon Brown) and charged with the responsibility of setting the level of interest rates in the UK. To do this the Monetary Policy Committee was formed. The MPC has nine members –five from within the Bank, and four independent members. The committee is chaired by the Governor, and the other Bank members are the two Deputy Governors, the Executive Director with responsibility for Financial Stability and the Executive Director with responsibility for Monetary Analysis. The Chancellor appoints the four independent members. Some of them are full-time and some part-time.

The MPC meets monthly and there are certain key elements to this monthly cycle. The approximate timetable for the MPC is:

Friday prior to “MPC week”


Pre-MPC meeting – this is an opportunity for the MPC to be fully briefed by Bank staff. Up to date data, financial market information and surveys are all presented to the MPC. There are often also presentations from the Bank’s regional agents.

Wednesday of “MPC week”


The MPC meeting begins on the Wednesday, usually after lunch. It will often continue well into the evening, and the MPC members will discuss the information that has been presented to them.


Thursday of “MPC week”


The committee reconvene Thursday morning and the Governor summarises the previous day’s discussion. MPC members then individually explain their views on the desirable policy stance. The Governor will then put to the meeting a proposal for the level of interest rates. He aims for this to reflect a consensus of all the views expressed. The Committee then takes a vote. Any member in a minority is asked what level of interest rates they would have preferred and this is recorded in the minutes.


12 noon – Thursday of “MPC week”


The interest rate decision is announced. Within a fortnight of the MPC meeting
The minutes of the meeting are published, giving full detail of all discussion that took place at the meeting and including an annex that has all the information presented to the MPC.


Quarterly


The Bank publishes the Inflation Report giving full details about what they see as the state of the economy and the outlook for inflation.


The MPC will be carefully examining the state of the economy and trying to analyse the exact effect that changes on interest rates might have. To do this they will consider a number of areas of economic theory, and they will also look very carefully at the inflation forecast that has been prepared by the Bank’s monetary analysis division. 





































